’ BOARD QI iNpEpnaepiery ans spen S A TNONatermark |
l%PDF Watermark DEMQ~ PUTCHASE 1ot :i\g\ﬁ T
\, OUBJECTIVE KEY FOR SSC@P/0 Mﬁ/@ﬁummaﬁon 2016. | _
Name of Subject M&mﬁ' "ausgan 20/ —20/b :
(G T 15.?1"[{—'"115'5 | PIEEF"”}?&EZ?: (0% o
— X

" 31 Sk s

R
jviiv}
ieie

o

SokaEw PO,

e N L R
> | DB AID
> DL R
_/,,_ _-D ! C/ ‘D_._ ........ ‘B__ ;
.1 Did 8l a | 8,
> 1¢ D ic| 8
| 1 B Die D
-1 41D D B
e L | o
- B C J\:D | ]: |
[15. P
15 )
[T?“f i
5
! 20,
K_ey. \ y /’ 1'
S5 2 oy Koote © Sk --,-f“‘.;Lﬁ i
(_};./'L,‘JJ;/,)I&, e 1 Bet (L, f‘ﬂ;.x,u._LJf @J f(Suhjectlve & Objevtive) ]
(Syliabus)y J:JL,“;‘:_JHJJEV.# 2T Versi 0N o J/;.&[f\/eruionu /ﬁ:hulb,:/- :’/_r"_a.,fL ,
ot SRS, NORA W R 5 -V edd KeyGp s el | -
_(_UL Key &5 ;JUUDJ‘.LU/E:J./ P -(__/(u:“}n..:u,a.u)g,;.,c;_,._,yj’/;._}“’r P prLr‘.”-’-’*/' ii
PRIPARED & CHECKED BY : - l
Sr.No Name Destgnation  Lustitution Mobile No. Signature, '
. : 5 !
e Knfubmmed 5510 Qs mcly O116313),57  Crmunest |
Rabia.fey;  Hedmishves Lty 2y 2360l T e A
;5 Hafi2 ! M;A.ma _SST c,_gg__g__c_z_,__ ____.,_{,_;,Hf_3 138626247 5
- KouRaN $76.7) dovt: Modeh 0300 ,-
N 4 5, 0 7) 4

, { | at:' 7727086
MSC“)'g‘gﬁ Hs Veh | 70



http://www.result.pk
http://www.a-pdf.com/?wm-demo

PAPER CODE 2016 (S) s
SSC PART-l (9th CLASS)

NUMBER:5337

COMPUTER SCIENCE St
TIME ALLOWED: 15 Minutes OBJECTIVE U"b/’.a? w15 = =B
MAXIMUM MARKS: 12 12= AF

S o L SISl erne AL Ll g 38317 <L Es D A C B A lnle Ly o)
V! -(ngg:ﬁ/:;gjful‘!@;ﬂfé.)::.é Bubbles -b’mﬂw.,,m.«,-fzammfz_/ﬁz oy i szfu:?buyc_.ug iy
Note: You have four choices for each objective type question as A, B, C and D. ..L):)::Lf}':»;a]}lr{.;{éfr
The choice which you think is correct, fill that circle in front of that question number. Use marker or pen
to fill the circles. Cutting or filling two or more circles will result in zero mark in that question. Attempt as
many questions as given in objective type guestion paper and leave others blank. No credit will be awarded

in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay

(1) EDP stands for:- -eis’ EDP (1)
(A) Elective Data Processing Exsys 4 (B) Elective Detail Processing wFas 34}
(C) Electronic Data Processing £z kb ) (D) Electronic Data Project .*..934&3..6/’?1

(2) ____isaninput device, ey @
(A) Monitor < (B) Printer (C) Plotter }i}: (D) Mouse [t

(3) _____isan output device. eSipeas’ (3
(A} Keyboard L:{J (B) Mouse (il (C) Microphone u;’:)..?‘. (D) Monitor ~»

(4) The cell of memory is logically organized into group of:- _.»‘_-_t“ysfﬁ"' u:_;s/'ff. - ;,‘*’u”';'df@r:' 4)
(A) 5 Bits (B) 6 Bits (C) 7 Bits (D) 8 Bits

(5) Datais collectionof . e AL o (5)
(A) Facts & (B) Figures sl (C) Informations =\ (D) Facts & Figures siuisd

(6) Size of common Floppy Disk is:- P s ey (6)
(A) 25" (B) 4.5" ) 35" - (D) 5.5"

(7) RMDIR command:- (A) Makes directory < Gt$H473 A RMDIR  (7)
(B) Removes directory < &/F$75 () Copies files < /U50¥6 (D) Listfiles < (e Sus

(8) The extension of Excel Files is:- B -‘L@ﬁu&?’f@w”ﬁ&g‘ (8)
(A} xis (B) .ppt (C) .bmp ' (D) .doc

(9) The extension of Word Files is:- e dn PR (@)
(A} xls (B} .doc (C) .ppt (D) .htmi

(10) _____language is not a high level language. _¢f_.u.?’ljg)u(;_;)§_slé»@ — . (Y
(A) Fortran @ths (B) Basic L (C)C++  ++§ (D) Assembly (1

(11) The Third Generation Computers use:- (A) Vacuum Tubes z;.érr.?: gE Sl Ra S ()
(B) Integrated Circuits i< o 355 ,80501 (C) Transistors J/71/ (D) Microprocessors )/S;sz?t

(12) _____is not a type of bus in computer. -C‘gwy;w}&{u’ s K12
(A) Data &} (B) Address (.4 (C) Power .| (D) Contro! Js”
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2016 (S) D

SSC PART-l (9th CLASS)

COMPUTER SCIENCE Srd
TIME ALLOWED: 2.45 Hours SUBJECTIVE SU¥le #o45 = &
MAXIMUM MARKS: 63 63 = AF

NOTE: - Write same question number _q.@;:g;:;..{,,giyﬁzé 64:/1‘32151/:"()5}’6:445’@:2 cdied)
and its part number on answer book, as given in the question paper.
SECTION- sl

2. Attempt any six parts. 12=2x6 -égfaylﬁélzg’a.gf -2/:}4_)15*
(i} How many types of Computer Languages are? Write down its names. -é-f,{f:r"l: ?ngu"it,%/‘f':@/’,g:d/ (i)
(ii) VWrite down any two characteristics of Super Computer. -é'ggf..myr‘%:gdﬂf}{;{/; (ii)
{iii)  Write down the name of device used in First Generation Computer. ig‘,’.:;f‘%tK.—’..ﬁ.bé..m)b»“fuﬁﬁﬁ&;ﬁm{ (iif)
(iv)  Write the use of Assembler. _uf{'b*?'*‘f{ K (i)
{v)  Write down any two examples of Application Software. _u'.?‘{ﬁ‘muﬂfgfﬁsﬂv =Y (v)
(vi)  What is Computer Brain? e bl i (vi)
(vii)  What is meant by MSB? ‘eslrc. MSB (i)
(viii)  Give examples of Secondary Memory. -é;fu‘-!lf’*d,&uﬂ'd:ﬁ? (viii)
(ix)  What is menat by High Level Formatting? ?a‘.,ﬂ/l_.‘f;. jﬁ:;ﬁ&,..ué.;l {ix)
3. Attempt any five parts. 10=2x5 -élfakmﬁizfégc:.tjf -3/:‘Ufr
()  Whatis meant by Numeric Data? Seolplebides ()
(i)  Convert into Hexadecimal number. 7810) LSSt S (ii)
(i)  Subtract 0111110y == 01011101, EG A i
(iv)  Whatis BCD? ?.E:.@.-( BCD (iv)
(v)  What is meant by File Extension? ‘.‘q.,:!/i_f'/c.. #0% Fs (v)
{vi)  Describe the function of Search Utility in Windows. -,éukrﬂu"br;;@/wﬁﬁs (vi)
{(viij, What is meant by Windows Menus? *?.:.;F,wg"c..J;a”f_J;.*c: (vii}
(viii)  Write two names of Antivirus, ~ErlumGima S i)
4. Attempt any five parts. 10=2x5 -#}f&&lizﬁizlg;ga.éf ..4/:Ulr'
(i) Define Output Devices. i._.ij.-r.....g‘«gﬁu/.:. UTagesT (i)
(i)  What are CRT Monitors? ‘L nlify CRT (i)
(i) Define Printer. S L ()
(iv)  What is Commutative Law? S bl 5 (iv)
(v}  Describe Duality Principle. S e W)
(viy  Define Operating System. -éqﬁJf’,@{;T (vi)
(vii) How does Interpreter Work? e l;'/'?'{c“i}.,;j-'i {vii)
(vil) Write down the names of DOS Files. -éjrtiﬁ’s DOS  {viii)
NOTE: - Attempt any three questions. 21=7x3 e fel et § o)
5 Write notes on the following: - 2+2+3 _u:;‘”j;,i{ufj,?;p -5
VISUAL BASIC (e fios (i) LISP o (i) coBOL Uy (i)
6.  Define CPU. 542 AUl ey By gyl CPU 6
Explain the parts of Central Processing Unit.
7. What is Non Impact Printers. 7 ‘ufg.:aﬁgjf{_*g_fwi}fgzﬁ ?‘L;ygfc.;;ﬁ,;_ngfut =]
Wirite note on Laser Printers and Ink jet Printers.
8. What do you know about the RAM?  Explain. 7 Sleolsy SrE %L;"JWZ T -8
9. Write the disadvantages of using Boolean Algebraic Laws. 7 _u.fgatuﬁédwlz:uff;d/é!ﬁ:f -9
SECTION-IlI (¥
10. NOTE: - Attempt any two parts. 5+5 - feelizne 3 (o JED 10
(A)  Write down the steps to start a program. _;c;{;f_«,ujrééi,/{,,-,“[rui;.g ()
(B)  Write down the steps to search/find the file. G B L 2 e (L)
(C)  Write the steps lo create a new directory named user. _g‘_':f-}f..‘:l.lj{cﬁ. c:,.J;g(*;K&ttzd}.ffri(f (¢)
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